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CHAPTER 16
International Trade and Exchange Rates
Chapter 16 covers a range of topics related to international trade.  It discusses trade facts, comparative advantage, exchange rates and the economic effects of tariffs.  It also explains fallacious arguments for trade protectionism, global efforts to liberalize trade, and U.S. trade deficits.
Nations specialize in and export those goods and services in the production of which they have a comparative advantage.  A comparative advantage means that the opportunity cost of producing a particular good or service is lower in that nation than in another nation.  These nations will avoid producing and will import the goods and services that other nations have a comparative advantage in producing.  In this way all nations are able to obtain products that are produced as inexpensively as possible.  Put another way, when nations specialize in those products in which they have a comparative advantage, the world as a whole can obtain more goods and services from its resources; each nation of the world can enjoy a standard of living higher than it would have if it did not specialize and export and import.
When the residents of a nation want to buy goods or services from other nations to take advantage of the benefits of specialization and trade, they exchange their own currency for foreign currency in the foreign exchange markets.  The rate at which the currency of one nation can be exchanged for the currency of another nation is called an exchange rate.  This rate is determined by the supply of and demand for each currency within the foreign exchange market.  An appreciation in the value of nation’s currency occurs when it buys more of another nation’s currency.  A depreciation in the value of nation’s currency occurs when it buys less of another nation’s currency.
Although specialization and trade can increase output and incomes, people still debate whether free trade or protection is good economic policy for their nation.  Nations have erected and continue to erect trade barriers against other nations.  This part of the chapter focuses attention on the five types of such barriers, the direct and indirect effects of tariffs, and the cost of trade protectionism to society.  Economists took part in the debate over the benefits of free trade and, with few exceptions, argued for free trade and against protectionism.  The arguments for protection have popular appeal, but they are weak and full of fallacies as are complaints about offshoring of jobs.  Nevertheless, the issue is so controversial that legislation has been passed to compensate workers who are adversely affected by trade policies through the Trade Adjustment Assistance Act.
From a global perspective, multilateral agreements among nations are designed to reduce trade barriers and increase world trade.  Worldwide multilateral negotiations to reduce trade barriers have been conducted through the General Agreement on Tariffs and Trade (GATT) and the World Trade Organization (WTO) as GATT’s successor.  The other major development has been the formation of free-trade zones.  The European Union (EU) is now a trading bloc of 27 European nations.  A major accomplishment of the EU, in addition to the reduction of trade barriers among member nations, was the establishment of a common currency (the euro), which is currently used by 17 nations.  The United States, Canada, and Mexico also established a free-trade zone with the North American Free Trade Agreement (NAFTA).
The final section of the chapter examines the U.S. trade deficits.  As you will learn, these deficits were the result of several factors—differences in national growth rates, trade imbalances with China, and a declining saving rate—that contributed to imports rising faster than exports.  Trade deficits also have several implications—increased current consumption at the expense of future consumption, increased U.S. indebtedness to foreigners, and decreased exchange value of the U.S. dollar.
· CHECKLIST
When you have studied this chapter you should be able to
· Cite some key facts about international trade.

· Explain the basic principle of comparative advantage based on an individual example.

· Compute the costs of producing two commodities when given the data in a two-nation example.

· Determine which nation has the comparative advantage in the production of each product using the cost data you computed for the two-nation example.

· Calculate the range in which the terms of trade will occur in the two-nation example.

· Explain how nations gain from trade and specialization based on the two-nation example.

· Discuss how increasing costs affect specialization in the two-nation example.

· Define the main characteristics of the foreign exchange market.

· Demonstrate how supply and demand analysis applies to the foreign exchange market.

· Describe the six principal determinants of the demand for and supply of a foreign currency.

· Distinguish between the appreciation and depreciation of a currency.

· Describe the five principal types of trade barriers and the motives for erecting them.

· Explain the economic effects of a protective tariff on resource allocation, the price of the product, the total production of the product, and the outputs of foreign and domestic producers of the product.

· Give estimates of the cost to society from trade restrictions.

· Discuss two reasons why governments intervene in international trade.

· Explain three arguments used to support the case for protection and the problems with each one.

· Describe the rationale for and features of the Trade Adjustment Act.
· Evaluate whether offshoring of jobs is good or bad for the economy.
· List the major features of the General Agreement on Tariffs and Trade (GATT).

· Describe the World Trade Organization (WTO) and pro and con views of it.

· Describe the history, goals, and results from the European Union (EU).

· Explain the features and significance of the North American Free Trade Agreement (NAFTA).

· Describe the causes of recent trade deficits in the United States.

· Explain three economic implications of recent trade deficits in the United States.

· CHAPTER OUTLINE
1. Some facts on international trade are worth reviewing.

a. The United States has a trade deficit in goods and a trade surplus in services.

b. The major exports of the United States are chemicals, semiconductors, consumer durables, computers, and generating equipment.  The major imports are automobiles, petroleum, computers, household appliances, and clothing.  Canada is the largest trading partner for the United States.

c. The major exporters in international trade, by U.S. dollar volume, are China, Germany, the United States, Japan, and the Netherlands.  China has become a major international trader and the Asian economies of South Korea, Singapore, and Taiwan are also active in international trade.

d. The United States economy has the largest combined volume of imports and exports in the world, measured in U.S. dollars.

e. About 14 percent of the total output (GDP) of the United States is accounted for by exports of goods and services.

f. International trade and finance is a focus of economic policy.

2. The economic basis for trade is based on several circumstances.  Specialization and trade among nations is advantageous because the world’s resources are not evenly distributed and efficient production of different commodities requires different technologies and combinations of resources.  Specialization and trade result in greater overall output and income.

a. The principle of comparative advantage explains the gains from trade.  Suppose the world is composed of only two nations, each of which is capable of producing two different products.  With different domestic opportunity cost ratios, each nation will have a comparative (cost) advantage in the production of one of the two products, and if the world is to use its resources economically, each nation must specialize in the production of the product for which it has a comparative advantage.

b. The ratio at which one product is traded for another—the terms of trade—lies between the opportunity cost ratios of the two nations.

c. Each nation gains from this trade because specialization permits a greater total output from the same resources and a better allocation of the world’s resources.

d. If opportunity cost ratios in the two nations are not constant (if there is increasing cost), specialization may not be complete.

3. Trade between two nations differs from domestic trade because the nations use different currencies.  This problem is resolved by the existence of foreign exchange markets, in which the currency used by one nation can be purchased and paid for with the currency of the other nation.

a. The demand for and the supply of foreign currencies determine foreign exchange rates.  The exchange rate for any foreign currency is the rate at which the quantity of that currency demanded is equal to the quantity of it supplied.

b. A change in the demand for or the supply of a foreign currency will cause a change in the exchange rate for that currency.  Depreciation:  when there is an increase in the price paid in dollars for a foreign currency, the dollar has depreciated and the foreign currency has appreciated in value.  Appreciation:  when there is a decrease in the price paid in dollars for a foreign currency, the dollar has appreciated and the foreign currency has depreciated in value.

c. Changes in the demand for or supply of a foreign currency are largely the result of changes in tastes, relative incomes, relative interest rates, relative inflation rates, relative expected returns, and speculation.

4. Nations limit international trade by erecting trade barriers.
a. Tariffs, import quotas, nontariff barriers, voluntary export restrictions, and export subsidies are the five major barriers to trade.

b. The imposition of a tariff on a good imported from abroad has both direct and indirect effects on an economy.

(1) The tariff increases the domestic price of the good, reduces its domestic consumption, expands its domestic production, decreases its foreign production, and transfers income from domestic consumers to government.

(2) It also reduces the income of foreign producers and the ability of foreign nations to purchase goods and services in the nation imposing the tariff, causes the contraction of relatively efficient industries in that nation, decreases world trade, and lowers the real output of goods and services.

c. There is a net cost of tariffs to the economy because the costs to consumers of trade protection are greater than any benefits to the economy.
d. One reason that governments impose trade barriers is that that they misunderstand the gains from trade.  A second reason is that special-interest groups benefit from protection and persuade governments to erect trade barriers to protect them from competition.
5. The arguments for protectionism are many, but often of questionable validity.

a. Trade barriers do not necessarily increase domestic employment because

(1) imports may eliminate some jobs, but create others, so imports may change only the composition of employment, not the overall level of employment;

(2) the exports of one nation become the imports of another, so tariff barriers can be viewed as “beggar thy neighbor” policies;

(3) other nations are likely to retaliate against the imposition of trade barriers that will reduce domestic output and employment; and

(4) in the long run, barriers create a less efficient allocation of resources by shielding protected domestic industries from the rigors of competition.

b. Protection is sometimes sought because of the cheap foreign labor argument; it should be realized that nations gain from trade based on comparative advantage, and without trade, living standards will be lower.

c. Sometimes protection is sought against the “dumping” of excess foreign goods on U.S. markets.  Dumping is a legitimate concern and is restricted under U.S. trade law, but to use dumping as an excuse for widespread tariff protection is unjustified, and the number of documented cases is few.  If foreign companies are more efficient (low cost) producers, what may appear to be dumping may actually be comparative advantage at work.
6. Changes in trade patterns based on comparative advantage and reductions in trade protectionism can hurt particular groups in an economy.  The Trade Adjustment Assistance Act of 2002 was passed to help U.S. workers in those industries hurt by imports or plant relocations to other nations.  Workers participating in this program receive benefits and assistance with job retraining and with job searches.  Critics of such policies argue that losing a job because of international trade should not get special treatment over losing a job for any other reason.

a. Applying the Analysis (Is Offshoring of Jobs Bad?).  Offshoring refers to shifting work previously done by American workers to workers located in other nations.  This practice has increased in recent years as more service jobs and work have been shifted to workers in other nations.  Offshoring hurts domestic workers who lose their jobs, but it helps domestic firms remain competitive in a national and global economy.  Consumers also benefit from the lower prices and services provided through offshoring.
7. International trade policies have changed over the years with the development of multilateral agreements and free-trade zones.

a. The General Agreement on Tariffs and Trade (GATT) began in 1947.  GATT provided equal treatment of all member nations and sought to reduce tariffs and eliminate import quotas by multilateral negotiations.

b. The World Trade Organization (WTO) was the successor to GATT.  It oversees trade agreements and provides a forum for trade negotiations, the latest of which is the Doha Round.  The WTO works to expand trade and reduce protectionism, but the outcomes can be controversial.
c. The European Union (EU) is an example of a regional free-trade zone or trade bloc among 27 European nations.  It abolished tariffs among member nations and developed common policies on various economic issues, such as the tariffs on goods to and from nonmember nations.  The EU has produced freer trade and increased economies of scale for production in its member nations.  Seventeen of the 27 EU nations use a common currency―the euro.
d. In 1993, the North American Free Trade Agreement (NAFTA) created a free-trade zone covering the United States, Mexico, and Canada.  Critics of this agreement fear job losses and the potential for abuse by other nations using Mexico as a base for production.  Defenders cite the mutual advantages from freer trade and the fact that increased worldwide investment in Mexico will stimulate growth in that nation and trade with the United States.  Trading blocs such as this and the EU create trade frictions with nonmember nations.
8. The United States had large and persistent trade deficits in the past decade, and they are likely to continue.

a. Three factors account for the trade deficits:

(1) more rapid growth in the domestic economy than in the economies of several major trading partners, which caused imports to rise more than exports;

(2) the emergence of large trade deficits with China.

(3) a decline in the rate of saving and a capital account surplus, which allowed U.S. citizens to consume more imported goods.

b. The trade deficits of the United States have had three principal effects:

(1) They increased current domestic consumption (allowing the nation to operate outside its production possibilities frontier);

(2) They increased the indebtedness of U.S. citizens to foreigners.  A possible negative implication of these persistent trade deficits is that they will lead to permanent debt and more foreign ownership of domestic assets, or lead to large sacrifices of future domestic consumption.  But, if the foreign lending increases the U.S. capital stock, then it can contribute to long-term U.S. economic growth;

(3) They placed downward pressure on the exchange value of the U.S. dollar.

· HINTS AND TIPS
1. Comparative advantage is directly related to the opportunity cost concept and production possibilities you learned about in Chapter 1.

a. A nation has a comparative advantage in the production of a product when it can produce the product at a lower domestic opportunity cost than can a trading partner.  A nation will specialize in the production of a product for which it is the low (opportunity) cost producer.

b. When the production possibilities for two nations that trade two products have a constant cost ratio, you can reduce the complicated production possibilities schedules to a 2 x 2 table.  Put the two products in the two columns and the two nations in the two rows of the matrix.  In each cell of the matrix put the maximum of each product that can be produced by that row’s nation.  Then for each nation, divide the maximum of one product into the maximum amount of the other product to get the domestic opportunity cost of one product in terms of the other.

c. This last point can be illustrated with an example from problem 1 in this study guide chapter.  Lilliput can produce a maximum of 40 pounds of apples or 20 pounds of bananas.  Brobdingnag can produce a maximum of 75 pounds of apples or 25 pounds of bananas.  The 2 x 2 matrix would look like this:
	
	Apples
	Bananas

	Lilliput
	40
	20

	Brobdingnag
	75
	25


For Lilliput, the domestic opportunity cost of producing 1 pound of apples is .5 pound of bananas.  In Brobdingnag, the domestic opportunity cost of producing 1 pound of apples is .33 pound of bananas.  Brobdingnag is the lower (opportunity) cost producer of apples and will specialize in the production of that product.  Lilliput is the lower (opportunity) cost producer of bananas, because producing 1 pound of bananas requires giving up 2 pounds of apples, whereas in Brobdingnag producing 1 pound of bananas requires giving up 3 pounds of apples.

2. The terms depreciation and appreciation can be confusing when applied to foreign exchange markets.

a. First, know the related terms.  “Depreciate” means decrease or fall, whereas “appreciate” means increase or rise.

b. Second, think of depreciation or appreciation in terms of quantities:

(1) what decreases when the currency of Country A depreciates is the quantity of Country B’s currency that can be purchased for 1 unit of Country A’s currency;

(2) what increases when the currency of Country A appreciates is the quantity of Country B’s currency that can be purchased for 1 unit of Country A’s currency.

c. Third, consider the effect of changes in exchange rates:

(1) when the exchange rate for Country B’s currency rises, this means that Country A’s currency has depreciated in value because 1 unit of Country A’s currency will now purchase a smaller quantity of Country B’s currency;

(2) when the exchange rate for Country B’s currency falls, this means that Country A’s currency has appreciated in value because 1 unit of Country A’s currency will now purchase a larger quantity of Country B’s currency.

3. The U.S. dollar price of a unit of foreign currency ($1.56 for 1 British pound), or the amount of foreign currency that can be purchased by one U.S. dollar ($1 can purchase .64 British pound).  If you know the exchange rate in one way, you can easily calculate it the other way.  Using the information from the first way, dividing $1.56 into 1 British pound gives you the British pound price for 1 U.S. dollar (1/1.56 = .64 of a British pound).  Using information from the second way, dividing .64 of a British pound into 1 U.S. dollar gives you the dollar price of a British pound (1/.64 = 1.56).  Both ways may be used, although one way may be used more often than the other.  Rates for British pounds or Canadian dollars are usually expressed the first way, in terms of U.S. dollars.  Rates for the Swiss franc, Japanese yen, or European euro are expressed the second way, per U.S. dollar.

4. An interesting section of the chapter discusses the arguments for and against trade protection.  You have probably heard one or more of the arguments for trade protection, but now you can use your economic reasoning to expose the weaknesses in these arguments.  Most are half-truths and special pleadings that overlook the benefits of trade and the costs of trade protection to the economy.
· IMPORTANT TERMS
	comparative


advantage

terms of trade

foreign exchange market

exchange rates

depreciation

appreciation

tariffs

import quotas

nontariff barriers (NTBs)

voluntary export


restriction (VER)

export subsidies

Smoot-Hawley Tariff Act
	dumping

Trade Adjustment


Assistance Act

offshoring

General Agreement on Tariffs and Trade (GATT)

World Trade


Organization (WTO)

Doha Round

European Union (EU)

trade bloc

euro

North American Free Trade Agreement (NAFTA)



SELF-TEST


· FILL-IN QUESTIONS
1. A trade deficit occurs when imports are (less than, greater than) ___________________ exports, but a trade surplus occurs when imports are ___________________ exports.  The United States has a trade deficit in (goods, services) _______________ and a trade surplus in _______________.  The United States’ volume of exports and imports makes it the world’s (largest, smallest) ____________ trading nation.

2. The basic argument for specialization and trade based on the principle of (bilateral negotiations, comparative advantage) _____________________ is that it results in a (more, less) _______ total output and income, and a (lower, higher) ___________ standard of living.
3. The principle of comparative advantage means total world output will be greatest when each good is produced by that nation having the (highest, lowest) ____________ domestic opportunity cost.  The nations of the world tend to specialize in the production of those goods in which they (have, do not have) ____________ a comparative advantage and then export them, and they import those goods in which they ____________ a comparative advantage in production.

4. When one nation has a lower domestic opportunity cost of producing a product relative to another nation it has a (nontariff barrier, comparative advantage) ________________________.  The amount of one product that must be given up to obtain 1 unit of another product is the (foreign exchange, opportunity cost) __________________________.

5. The rate of exchange for the European euro is the amount in (euros, dollars) _____________ that a U.S. citizen must pay to obtain 1 (euro, dollar) ____________.  The rate of exchange for the U.S. dollar is the amount in (euros, dollars) _____________ that a citizen in the euro zone must pay to obtain 1 (euro, dollar) ____________.  If the rate of exchange for the euro is (1.05 euros, $0.95) ____________, the rate of exchange for the U.S. dollar is _______________.

6. What effect would each of the following have—the appreciation (A) or depreciation (D) of the euro compared to the U.S. dollar in the foreign exchange market, ceteris paribus?

a. The increased preference in the United States for domestic wines over wines produced in Europe:
_____

b. A rise in the U.S. national income:
_____

c. An increase in the price level in Europe:

_____

d. A rise in real interest rates in the United States:
_____

e. An increase in the expected returns on production assets and real estate in Europe
_____

f. The belief of speculators in Europe that the dollar will appreciate in the foreign exchange market:
_____

7. When the dollar price of foreign currency increases, there has been a(n) (appreciation, depreciation) _______________ in the value of the dollar.  When the dollar price of foreign currency decreases, there has been a(n) __________________ in the value of the dollar.  For example, if the dollar price of a euro decreases from $1.00 = 1 euro
 to $0.90 = 1 euro, then it means that there has been a(n) (appreciation, depreciation) _____________________ in the value of the dollar; but if the dollar price of a euro increases from $0.95 = 1 euro to $1.05 = 1 euro, then it means that there has been a(n) _______________________ in the value of the dollar.

8. In the market for Japanese yen, an increase in the (demand for, supply of) _________________ yen will decrease the dollar price of yen, while an increase in the _________________ yen will increase the dollar price of yen.  If the dollar price of the yen increases, then Japanese goods imported into the United States will be (more, less) __________ expensive.

9. Excise taxes on imported products are (quotas, tariffs) _____________, whereas limits on the maximum amount of a product that can be imported are import _____________.  There are other types of trade barriers.  Imports that are restricted through the use of a licensing requirement or bureaucratic red tape are (tariff, nontariff) ___________ barriers.  When foreign firms voluntarily limit their exports to another country, it would represent a voluntary (import, export) __________ restraint.  Government can also help domestic industries to compete with foreign producers by providing (import, export) __________ subsidies.
10. Tariffs and quotas (benefit, cost) ____________ domestic firms in the protected industries, but ____________ domestic consumers in the form of (lower, higher) ____________ prices than would be the case if there were free trade.  They also (benefit, cost) ____________ domestic firms that use the protected goods as inputs in their production processes.

11. When the United States imposes a tariff on a good that is imported from abroad, the price of that good in the United States will (increase, decrease) _______________, the total purchases of the good in the United States will _________________, the output of U.S. producers of the good will (increase, decrease) _______________, and the output of foreign producers will _______________.  The ability of foreigners to buy goods and services in the United States will (increase, decrease) _______________ and, as a result, output and employment in U.S. industries that sell goods and services abroad will _______________.

12. Governments may intervene in trade between nations because they mistakenly think of
(exports, imports) _______________ as helpful and _______________ as harmful for a national economy.  In fact, there are important gains from trade in the form of the extra output obtained from abroad.  Trade makes it possible to obtain (exports, imports) _______________ at a lower cost than would be the case if they were produced using domestic resources, and the earnings from _______________ help a nation pay for these lower cost (exports, imports) _______________.

13. Nations erect barriers to international trade to benefit the economic positions of (consumers, domestic producers) _________________________ even though these barriers (increase, decrease) _______________ economic efficiency and trade among nations and the benefits to that nation are (greater, less) ____________ than the costs to it.

14. Governments interfere with free trade based on (private, political) ______________ considerations.  Groups and industries seek protection from foreign competition through (GATT, tariffs) _____________ and import (quotas, subsidies) _______________, or other kinds of trade restrictions.  The costs of trade protectionism are (clear to, hidden from) _________________ consumers in the protected product so there is little opposition to demands for protectionism.

15. Trade barriers do not necessarily increase domestic employment because:  imports may change only the (level, composition) ________________ of employment; trade barriers can be viewed as “beggar thy (customer, neighbor) _________________” policies; other nations can (protest, retaliate) _______________ against the trade barriers; and in the long run, the barriers create an allocation of resources that is (more, less) _________ efficient by shielding protected domestic industries from competition.
16. The General Agreement on Tariffs and Trade (GATT) was based on the principles of equal, (discriminatory, nondiscriminatory) ________________ treatment for all member nations and reduction in trade barriers through (bilateral, multilateral) __________________ negotiations.  The Uruguay Round of GATT established the World (Finance, Trade) ____________ Organization to serve as the successor to GATT.

17. An example of a free-trade zone or trade bloc is the (Western, European) _______________ Union.  The specific aims of the EU were the abolition of (capital, tariffs) ______________, the establishment of (common, different) ______________ tariffs on goods imported from outside the EU, the (restricted, free) ________________ movement of capital and labor within the EU, and common policies on other matters.  The common currency of many of the member nations of the EU is called the (peso, euro) ________.

18. The North American Free Trade Agreement (NAFTA) formed a trade (barrier, bloc) __________ among the United States, Canada, and Mexico.  This agreement will eliminate (terms of trade, tariffs) ___________________ among the nations.  Critics in the United States said that it would (increase, decrease) _______________ jobs, but the evidence shows a(n) _______________ in jobs and total output since its passage.

19. In recent years, the United States had large trade and current account (surpluses, deficits) ________________.  One cause was (stronger, weaker) _____________ economic growth in the United States relative to _____________ economic growth in Europe and Japan.  Another contributing factor was a (rising, falling) ___________ trade deficit with China, and a ____________ saving rate in the United States.
20. One effect of the trade deficits of the United States has been (decreased, increased) _______________ current domestic consumption that allows the nation to operate outside its production possibility frontier, and another effect was a (rise, fall) ________ in the indebtedness of U.S. citizens to foreigners.

· TRUE–FALSE QUESTIONS
Circle T if the statement is true, F if it is false.
1. Canada is the most important trading partner for the United States in terms of the volume of exports and imports.
T   F

2. If a person, firm, or region has a comparative advantage in the production of a particular commodity, it should specialize in the production of that commodity.
T   F

3. The principle of comparative advantage is that total output will be greatest when each good is produced by that nation which has the higher domestic opportunity cost.
T   F
4. By specializing based on comparative advantage, nations can obtain larger outputs with fixed amounts of resources.
T   F
5. The terms of trade determine how the increase in world output resulting from comparative advantage is shared by trading nations.
T   F
6. Trade among nations tends to bring about a more efficient use of the world’s resources and a higher level of material well-being.
T   F
7. Increasing opportunity costs tend to prevent specialization among trading nations from being complete.
T   F
8. The interaction of the demand for, and supply of, Japanese yen will establish the dollar price of Japanese yen.
T   F

9. When the dollar price of another nation’s currency increases, there has been an appreciation in the value of the dollar.
T   F

10. When the dollar depreciates relative to the value of the currencies of the trading partners of the United States, then goods imported into the United States will tend to become more expensive.
T   F

11. Nontariff barriers include excise taxes or duties placed on imported goods.
T   F

12. The imposition of a tariff on a good imported from abroad will reduce the amount of the imported good that is bought.
T   F
13. A cost of tariffs and quotas imposed by the United States is higher prices that U.S. consumers must pay for the protected product.
T   F
14. Export subsidies are government payments to reduce the price of a product to buyers from other nations.
T   F

15. Tariffs and quotas benefit domestic firms in the protected industries and also help domestic consumers by lowering the prices for those products.

T   F

16. Tariffs and import quotas meant to increase domestic full employment achieve short-run domestic goals by making trading partners poorer.
T   F
17. Protection against the “dumping” of foreign goods at low prices on the U.S. market is one good reason for widespread, permanent tariffs.
T   F
18. The World Trade Organization (WTO) is the world’s major advocate for trade protectionism.

T   F

19. The members of the European Union (EU) have experienced freer trade since it was formed.
T   F

20. The economic integration of nations creates larger markets for firms within the nations that integrate and makes it possible for these firms and their customers to benefit from the economies of large-scale (mass) production.
T   F

21. The formation of the European Union (EU) may make it more difficult for U.S. firms to compete for European customers with firms located within the Union.
T   F

22. The 1993 North American Free Trade Agreement (NAFTA) includes all Central American nations.
T   F

23. The trade deficits of the United States in recent years were caused by sharp increases in U.S. exports and slight increases in U.S. imports.
T   F
24. Improved economic growth in the economies of the major trading partners of the United States would tend to worsen the trade deficit.
T   F
25. The decline in the saving rate in the United States contributed to the persistent trade deficit of the past decade.
T   F
· 
MULTIPLE-CHOICE QUESTIONS
Circle the letter corresponding to the best answer.
1. Why do nations specialize and engage in trade?

(a) to protect multinational corporations

(b) to increase output and income

(c) to improve communications

(d) to control other nations
Answer Questions 2, 3, 4, and 5 based the data given for two regions, Slobovia and Utopia.
SLOBOVIA PRODUCTION POSSIBILITIES TABLE

	
	Production alternatives

	Product
	A
	B
	C
	D
	E
	F

	Cams
	1500
	1200
	900
	600
	300
	0

	Widgets
	0
	100
	200
	300
	400
	500


UTOPIA PRODUCTION POSSIBILITIES TABLE

	
	Production alternatives

	Product
	A
	B
	C
	D
	E

	Cams
	4000
	3000
	2000
	1000
	0

	Widgets
	0
	200
	400
	600
	800


2. In Slobovia, the comparative cost of

(a) 1 cam is 3 widgets

(b) 1 widget is .33 of a cam

(c) 1 cam is .33 of a widget

(d) 3 widgets is 1 cam
3. Which of the following statements is not true?

(a) Slobovia should specialize in the production of widgets.

(b) Slobovia has a comparative advantage in the production of widgets.

(c) Utopia should specialize in the production of widgets.

(d) Utopia has a comparative advantage in the production of cams.
4. The terms of trade will be

(a) greater than 7 cams for 1 widget

(b) between 7 cams for 1 widget and 5 cams for 1 widget

(c) between 5 cams for 1 widget and 3 cams for 1 widget

(d) less than 3 cams for 1 widget
5. Assume that if Slobovia did not specialize it would produce alternative C and that if Utopia did not specialize it would select alternative B.  The gains from specialization are

(a) 100 cams and 100 widgets

(b) 200 cams and 200 widgets

(c) 400 cams and 500 widgets

(d) 500 cams and 400 widgets
6. U.S. residents demand foreign currencies to

(a) produce goods and services exported to foreign countries

(b) pay for goods and services imported from foreign countries

(c) receive interest payments on investments in the United States

(d) have foreigners make real and financial investments in the United States
7. If the dollar–yen exchange rate is $1 for 110 yen, then a Sony VCR priced at 27,500 yen would cost a U.S. consumer

(a) $200

(b) $250

(c) $275

(d) $300
8. A decrease in the United States’ demand for Japanese goods will

(a) increase the demand for Japanese yen and increase the dollar price of yen

(b) increase the demand for Japanese yen but decrease the dollar price of yen

(c) decrease the demand for Japanese yen and decrease the dollar price of yen

(d) decrease the demand for Japanese yen but increase the dollar price of yen
9. If a U.S. citizen could buy £25,000 for $100,000, the rate of exchange for the pound would be

(a) $40

(b) $25

(c) $4

(d) $.25
10. If the exchange rate for one U.S. dollar changes from 1.0 euro to 1.1 euros, then there has been

(a) an appreciation in the value of the euro

(b) a depreciation in the value of the dollar

(c) a depreciation in the value of the euro

(d) an increase in the price of the euro
11. Which statement is correct about a factor that causes a nation’s currency to appreciate or depreciate in value?

(a) if the supply of a nation’s currency decreases, all else equal, that currency will depreciate

(b) if the supply of a nation’s currency increases, all else equal, that currency will depreciate

(c) if the demand for a nation’s currency increases, all else equal, that currency will depreciate
(d) if the demand for a nation’s currency decreases, all else equal, that currency will appreciate
12. 
Which one of the following is characteristic of tariffs?

(a) They prevent the importation of goods from abroad.

(b) They specify the maximum amounts of specific commodities that may be imported during a given period of time.

(c) They often protect domestic producers from foreign competition.

(d) They enable nations to reduce their exports and increase their imports during periods of recession.
13. The motive for barriers to the importation of goods and services from abroad is to

(a) improve economic efficiency in that nation

(b) protect and benefit domestic producers of those goods and services

(c) reduce the prices of the goods and services produced in that nation

(d) expand the export of goods and services to foreign nations
14. When a tariff is imposed on a good imported from abroad,

(a) the demand for the good increases

(b) the demand for the good decreases

(c) the supply of the good increases

(d) the supply of the good decreases
15. Tariffs are costly to consumers because

(a) the price of the imported good rises

(b) the supply of the imported good increases

(c) import competition increases for domestically produced goods

(d) consumers shift purchases away from domestically produced goods
16. Which is a likely result of imposing tariffs to increase domestic employment?

(a) a short-run increase in domestic employment in import industries

(b) a decrease in the tariff rates of foreign nations

(c) a long-run reallocation of workers from export industries to protected domestic industries

(d) a decrease in consumer prices
17. Why do governments often intervene in international trade?

(a) to expand a nation’s production possibilities

(b) to improve the position of multinational corporations

(c) to protect domestic industries from foreign competition

(d) to increase revenue from tariff duties and excise taxes
18. 
“The nation needs to protect itself from foreign countries that sell their products in our domestic markets at less than the cost of production.”  This quotation would be most closely associated with which protectionist argument?

(a) trade adjustment
(b) increase domestic employment

(c) protection against dumping

(d) cheap foreign labor
19. Which of the following is characteristic of the General Agreement on Tariffs and Trade?  Nations signing the agreement were committed to

(a) the expansion of import quotas

(b) the establishment of a world customs union

(c) the reciprocal increase in tariffs by negotiation

(d) the nondiscriminatory treatment of all member nations
20. One important outcome from the Uruguay Round of GATT was

(a) an increase in tariff barriers on services

(b) establishment of the World Trade Organization

(c) removal of voluntary export restraints in manufacturing

(d) abolishment of patent, copyright, and trademark protection
21. An example of the formation of a trade bloc would be the

(a) Trade Adjustment Assistance Act
(b) North American Free Trade Agreement

(c) Reciprocal Trade Agreements Act

(d) General Agreement on Tariffs and Trade
22. A significant advantage of the European Union is
(a) regulated flows of labor and capital and reduced productivity

(b) economies of large-scale production and lower cost
(c) tariffs that reduce trade with nonmember nations

(d) national governments that have more economic control over their economies
23. Which was a cause of the growth of U.S. trade deficits in recent years?

(a) protective tariffs imposed by the United States

(b) slower economic growth in the United States

(c) direct foreign investment in the United States

(d) a declining saving rate in the United States
24. 
What would be the effect on U.S. imports and exports when the United States experiences strong economic growth but its major trading partners experience sluggish economic growth?

(a) U.S. imports will increase more than U.S. exports

(b) U.S. exports will increase more than U.S. imports

(c) U.S. imports will decrease but U.S. exports will increase

(d) there will be no effect on U.S. imports and exports
25. Two major outcomes from the trade deficits of recent years were

(a) decreased domestic consumption and U.S. indebtedness

(b) increased domestic consumption and U.S. indebtedness

(c) increased domestic consumption but decreased U.S. indebtedness

(d) decreased domestic consumption but increased U.S. indebtedness

· PROBLEMS
1. The countries of Lilliput and Brobdingnag have the production possibilities tables for apples and bananas shown at the top of the next column.  (See Hint #1 for help with this problem).
Note that the costs of producing apples and bananas are constant in both countries.
LILLIPUT PRODUCTION POSSIBILITIES TABLE

	
	Production alternatives

	Product
	A
	B
	C
	D
	E
	F

	Apples
	40
	32
	24
	16
	8
	0

	Bananas
	0
	4
	8
	12
	16
	20


BROBDINGNAG PRODUCTION POSSIBILITIES TABLE

	
	Production alternatives

	Product
	A
	B
	C
	D
	E
	F

	Apples
	75
	60
	45
	30
	15
	0

	Bananas
	0
	5
	10
	15
	20
	25


a. In Lilliput the cost of producing

(1) 8 apples is ______ bananas

(2) 1 apple is ______ bananas

b. In Brobdingnag the cost of producing

(1) 15 apples is ______ bananas

(2) 1 apple is ______ bananas

c. In Lilliput the cost of producing

(1) 4 bananas is ______ apples

(2) 1 banana is ______ apples

d. In Brobdingnag the cost of producing

(1) 5 bananas is ______ apples

(2) 1 banana is ______ apples

e. The cost of producing 1 apple is lower in the country of _________________ and the cost of producing 1 banana is lower in the country of ____________________.

f. Lilliput has a comparative advantage in the production of ______________ and Brobdingnag has a comparative advantage in the production of ______________.

g. The information in this problem is not sufficient to determine the exact terms of trade, but the terms of trade will be greater than ______ apples for 1 banana and less than ______ apples for 1 banana.  Put another way, the terms of trade will be between ______ bananas for 1 apple and ______ bananas for 1 apple.

h. If neither nation could specialize, each would produce production alternative C.  The combined production of apples in the two countries would be ______ apples and the combined production of bananas would be ______ bananas.

(1) If each nation specializes in producing the fruit for which it has a comparative advantage, their combined production will be ______ apples and ______ bananas.

(2) Their gain from specialization will be ______ apples and ______ bananas.

2. 
Use the following table that shows 10 different currencies and how much of each currency can be purchased with a U.S. dollar.
	
	Currency per U.S. $

	Country
	Currency
	Year 1
	Year 2
	A or D

	Brazil
	Real
	0.85
	0.91
	_____

	Britain
	Pound
	0.65
	0.59
	_____

	Canada
	Dollar
	1.41
	1.51
	_____

	Switzerland
	Franc
	1.33
	1.19
	_____

	Germany
	Euro
	1.58
	1.69
	_____

	India
	Rupee
	31.39
	34.55
	_____

	Japan
	Yen
	100.15
	110.23
	_____

	Mexico
	Peso
	4.65
	5.09
	_____

	Norway
	Krone
	6.88
	6.49
	_____

	Thailand
	Bhat
	25.12
	23.22
	_____


a. In the far right column of the table, indicate whether the U.S. dollar has appreciated (A) or depreciated (D) from year 1 to year 2.
b. In year 1, a U.S. dollar would purchase _____ Swiss francs, but in year 2, it would purchase _____ Swiss francs.  The U.S. dollar has (appreciated, depreciated) ________________ against the Swiss franc from year 1 to year 2.
c. In year 1, a U.S. dollar would purchase _____ Japanese yen, but in year 2, it would purchase _____ Japanese yen.  The U.S. dollar has (appreciated, depreciated) _____________ against the Japanese yen from year 1 to year 2.

3. This problem asks you to calculate prices based on exchange rates.  Use the data in the table for Problem 2 to answer the following items.
a. Using the exchange rates shown for year 1, what would be the U.S. dollar cost for the following products?
(1) Japanese television costing 30,000 yen.

$______

(2) Swiss scarf costing 200 francs.
$______

(3) Thai artwork costing 3,768 bhats.
$______

(4) German auto costing 79,000 euros.
$______

(5) Mexican silver bracelet costing 1,376
pesos.
$______
b. Using the exchange rates shown for year 2, what would be the U.S. dollar cost of the following products?
(1) Japanese television costing 30,000 yen.

$______

(2) Swiss scarf costing 200 francs.
$______

(3) Thai artwork costing 3,768 bhats.
$______

(4) German auto costing 79,000 euros.
$______

(5) Mexican silver bracelet costing 1,376
pesos.
$______
c. Indicate whether the U.S. dollar cost of each product in 3b has increased (+) or decreased (−) from year 1 to year 2.
_______ _______ _______ _______ _______
d. What is the relationship between your answers in 3c to the ones you gave for the corresponding nations in 2a?
(1) When the U.S. dollar appreciates in value against a foreign currency, the U.S. dollar cost of a product from that nation will (increase, decrease) ______________.

(2) When the U.S. dollar depreciates in value against a foreign currency, the U.S. dollar cost of a product from that nation will (increase, decrease) ______________.

· SHORT ANSWER AND ESSAY QUESTIONS
1. Explain the theory or principle of comparative advantage; what is meant by it and what determines the terms of trade; and the gains from trade.

2. Use an example of two individuals to describe the basic principle of comparative advantage.

3. What is the foreign exchange rate?  Who are the demanders and suppliers of a particular foreign exchange, say, the British pound?

4. Why might an appreciation of the value of the U.S. dollar relative to the Japanese yen depress the U.S. economy and stimulate the Japanese economy?  Why might a government intervene in the foreign exchange market and try to increase or decrease the value of its currency?

5. What types of events cause the exchange rate for a foreign currency to appreciate or to depreciate?  How will each event affect the exchange rate for a foreign currency and for a nation’s own currency?

6. What motivates nations to erect barriers to the importation of goods from abroad, and what types of barriers do they erect?

7. What are the major trade impediments and subsidies?  How do they restrict international trade?

8. Suppose the United States increases the tariff on automobiles imported from Germany (and other foreign countries).  What is the effect of this tariff-rate increase on

(a) the price of automobiles in the United States;

(b) the total number of cars sold in the United States during a year;

(c) the number of cars produced by and employment in the German automobile industry;

(d) production by and employment in the U.S. automobile industry;

(e) German income obtained by selling cars in the United States;

(f) the German demand for goods produced in the United States;

(g) the production of and employment in those U.S. industries that now export goods to Germany;

(h) the standards of living in the United States and in Germany;

(i) the allocation of resources in the U.S. economy; and

(j) the allocation of the world’s resources?

9. What is the cost to society from trade protectionism?  Who benefits and who is hurt by trade protectionism?

10. Why do governments intervene in international trade and develop restrictive trade policies?

11. What are the shortcomings of using tariffs to increase domestic employment in the United States?

12. Does the economy need to shield domestic workers from competition from “cheap” foreign labor?  Explain using the ideas of comparative advantage and standards of living.

13. Can a strong case for protectionism be made on the basis of defending against the “dumping” of products?  How do you determine if a nation is dumping a product?  What are the economic effects of dumping on consumers?

14. What were the major principles contained in the General Agreement on Tariffs and Trade (GATT)?
15. Describe the purpose of the World Trade Organization (WTO).  Why is it controversial?

16. What is the European Union?  What has it achieved?

17. Discuss the potential effects of the European Union on the trade of the United States.

18. What is the North American Free Trade Agreement (NAFTA)?  What do critics and defenders say about the agreement?

19. What were the causes of the trade deficits of the United States in recent years?

20. What were the effects of the trade deficits of recent years on the U.S. economy?

ANSWERS

Chapter 16  International Trade
and Exchange Rates
FILL-IN QUESTIONS
1. greater than, less than, goods, services, largest

2. comparative advantage, more, higher
3. lowest, have, do not have

4. comparative advantage, opportunity cost

5. dollars, euro, euros, dollar, $0.95, 1.05 euros
6. a. D; b. A; c. D; d. D; e. A; f. D
7. depreciation, appreciation, appreciation, depreciation
8. supply of, demand for, more
9. tariffs, quotas, nontariff, export, export
10. benefit, cost, higher, cost

11. increase, decrease, increase, decrease, decrease, decrease

12. exports, imports, imports, exports, imports
13. domestic producers, decrease, less
14. political, tariffs, quotas, hidden from
15. composition, neighbor, retaliate, less
16. nondiscriminatory, multilateral, Trade
17. European, tariffs, common, free, euro

18. bloc, tariffs, decrease, increase

19. deficits, stronger, weaker, rising, falling
20. increased, rise

TRUE–FALSE QUESTIONS
	  1.  T
	10.  T
	19.  T

	  2.  T
	11.  F
	20.  T

	  3.  F
	12.  T
	21.  T

	  4.  T
	13.  T
	22.  F

	  5.  T
	14.  T
	23.  F

	  6.  T
	15.  F
	24.  F

	  7.  T
	16.  T
	25.  T

	  8.  T
	17.  F
	

	  9.  F
	18.  F
	


MULTIPLE-CHOICE QUESTIONS
	  1.  b
	10.  c
	19.  d

	  2.  c
	11.  b
	20.  b

	  3.  c
	12.  c
	21.  b

	  4.  c
	13.  b
	22.  c

	  5.  a
	14.  d
	23.  d

	  6.  b
	15.  a
	24.  a

	  7.  b
	16.  c
	25.  b

	  8.  c
	17.  c
	

	  9.  c
	18.  c
	


PROBLEMS
1. a. (1) 4, (2) .5; b. (1) 5, (2) .33; c. (1) 8, (2) 2; d. (1) 15, (2) 3; e. Brobdingnag, Lilliput; f. bananas, apples; g. 2, 3, .33, .5; h. 69, 18, (1) 75, 20, (2) 6, 2

2. a. A, D, A, D, A, A, A, A, D, D; b. 1.33, 1.19, depreciated; c. 100.15, 110.23, appreciated

3. a. (1) 299.55, (2) 150.38, (3) 150, (4) 50,000, (5) 295.91; b. (1) 272.16, (2) 168.07, (3) 162.27, (4) 46,745.56, (5) 270.33; c. (1) −, (2) +, (3) +, (4) −, (5) −; d. (1) decrease, (2) increase


SHORT ANSWER AND ESSAY QUESTIONS
	  1.  pp. 398–402
	  8.  pp. 409–410
	15.  pp. 415–416

	  2.  p. 399
	  9.  p. 410
	16.  pp. 415–417

	  3.  pp. 404–406
	10.  pp. 410–412
	17.  pp. 415–417

	  4.  pp. 405–406
	11.  pp. 412–413
	18.  p. 417

	  5.  pp. 405–409
	12.  pp. 412–413
	19.  p. 418

	  6.  pp. 408–409
	13.  pp. 412–414
	20.  pp. 418–419

	  7.  pp. 408–409
	14.  pp. 415–416
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